Test Bank Questions by TEKS for Chapter 4
1. Danette is using a number line to help her put ¾, ⅔, ⅞, ⅛ in order. Which number is farthest from zero?

[image: image22.png]



	A
	 ¾

	B
	 ⅔

	C
	 ⅞

	D
	 ⅛



2. Tristan spent 1 hour and 10 minutes cleaning his garage, 1 ⅓ hours mowing the lawn, 1 hour 25 minutes fixing his skate board, and 1 ⅞ hours practicing tennis. On which activity 

did he spend the least amount of time? 

	A
	Cleaning the garage

	B
	Mowing the lawn

	C
	Fixing his skate board

	D
	Practicing his tennis


The table shows the distances from Karen’s house to some places of interest in her city.

Distances from Karen’s House

	Places of 

Interest
	Distance

(in miles)

	Witte Museum
	5 ¾

	Trinity Library
	5.8

	San Antonio Zoo
	5 ⅝

	Brackenridge Park
	5 ½


	A
	San Antonio Zoo, Brackenridge Park, Witte Museum, Trinity Library.

	B
	San Antonio Zoo, Witte Museum, Trinity Library, Brackenridge Park.

	C
	Brackenridge Park, San Antonio Zoo, Witte Museum, Trinity Library.

	D
	Trinity Library, Witte Museum, Brackenridge Park, San Antonio Zoo.


3. Which shows the places in order from least to greatest distance from Karen’s house?


4. Calvin ate 1 ¼ candy bars. His sister ate 1 ⅔ candy bars. If Calvin and his sister started with a total of 4 candy bars, how many remain?

	A
	2 11/12

	B
	2 3/7

	C
	1 1/12

	D
	7/12


The table shows the results of a survey of 42 people who were asked to name their favorite type of movie. 
Favorite Movie Type

	Movie Type
	Number of People

	Action
	28

	Comedy
	4

	Science Fiction (Sci-Fi)
	10


5. Which shows the fraction of people who named action movies as their favorite movie type?

	A
	2/3

	B
	2/21

	C
	5/21

	D
	2/5



6. When Jason got home he still had 6/10 of his math homework problems left to do. Before eating dinner, he completed 4/10 of the problems. Which shows the part of the homework problems he has left to do?

	A
	

	B


	

	C
	

	D
	


	
	


	
	
	
	
	


7. Which figure represents the combination of the shaded parts above?

	A
	

	B
	

	C
	

	D
	


8. Arrange the set of fractions {3/5, 4/7, 3/4, 11/20} from smallest to largest.

	A
	{3/5, 4/7, 3/4, 11/20}

	B
	{3/4, 3/5, 4/7, 11/20}

	C
	{3/5, 3/4, 4/7, 11/20}

	D
	{11/20, 4/7, 3/5, 3/4)}



9. Mrs. Montgomery bought fabric to make bedspreads for her girls. She bought 7 ⅛ yards of pink with white polka dots fabric and 2 ¼ yards of white fabric. How many yards of fabric did Mrs. Montgomery buy in all?

	A
	9 ⅜ yds.

	B
	9 ⅔ yds.

	C
	10 yds.

	D
	10 ⅜ yds.


10. John made two sets of wood shelves to go on the wall in his study. Each set contains one shelf measuring 5 ½ feet long, and the other measuring 3 ⅔ feet long. How much wood did John use in all for these shelves?

	A
	17 
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	B
	8
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	C
	9 
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	D
	18 
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11. What fraction of a class are boys if there are 14 boys and 16 girls in the class? 

	A
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	D
	14



12. Mrs. White’s class conducted a survey to determine favorite types of music within the 8th grade class. The results are listed below. 
	Type of Music
	 Number of People

	Country
	75

	Classic Rock
	32

	Hip Hop
	50

	Other
	43


What fraction of the class likes hip hop?
	A
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13. Billy has 2 blue blocks, 6 red blocks and 10 green blocks. What fraction of his blocks are red?

	A
	6/1

	B
	1/6

	C
	1/3

	D
	1/18


14. Timothy started training for the Capitol 10K run in Austin, Texas. On the first day of training, Timothy ran 5/8 of a mile on Pine Street, 2/5 of a mile on Oak Street, and 2 5/6 miles on Cedar Elm Street. Which procedure can Timothy use to find the total distance in miles that he ran?

	A
	Multiply the sum of the whole numbers by the sum of the fractions, using a common denominator when necessary

	B
	Find the difference between the sum of the whole numbers and the sum of the fractions, using a common denominator when necessary

	C
	Add the sum of the whole numbers and the sum of the fractions, using a common denominator when necessary

	D
	Divide the sum of the whole numbers by the sum of the fractions, using a common denominator when necessary



15. Mr. Martin has $35.00 to spend on seeds and plants for his vegetable garden. Cucumber seeds cost $1.75 per package, and squash seeds cost $1.25 per package, tax included. The tomato plants cost $2.50 per plant, tax included. If Mr. Martin buys 5 packages of cucumber seeds and 8 packages of squash seeds, how can he determine how much money he has left to spend on the tomato plants?

	A
	Add $1.75 to $1.25

	B
	Subtract the products of 5 and $1.75, and 8 and $1.25 from $35.00

	C
	Multiply $1.75 by 5 and $1.25 by 8

	D
	Subtract $1.75 + $1.25 + $2.50 from $35.00


16. Elizabeth has 75 nickels, 100 dimes and 25 pennies. The nickels represent what fraction of the total value of her coins?

a. What fraction of Elizabeth’s coins are nickels?

b. The nickels represent what fraction of Elizabeth’s total value of her coins?
Answer:

a. 75/200 = 3/8

b. $14 total and the nickels are worth $3.75; 
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17. Fill in the missing number to make each statement true.
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18. Find the indicated sums and differences. Write your answers in simplest form.

1/2 + 1/3 + 1/6 









3/5 + 2 ⅓ – 11/15









6/7 – 3/4 + 4 ½









3 1/9 – 2 3/5










3/4 + 1/6 + 1/12









2 1/3 + 3 ¼ – 4 1/6









7/15 – 3/10











19. Using the number line below, locate and label three fractions that are less than 
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